TH7EE &H

No.1

ERBREO—VI RS

b=y JIL—4% EIE 3-amah 500m LAP 1000m LAP e

BFUTNLRAL 1 | EAEK CEE D 2 5:59:16 | 1:58:41 3: 58:40
No. 2 | BEIXSK < WX > 4 6:07:31 1:55:i90 | 4:01:80
1 [ FEAH 3 | EAEK < LB > 1 5:31i69 | 1:46:35| 3:36:08
6878 (1) 4 | BEEER < #K >3 6:05:01 1:53:60 | 3:57:21
8:30 5 | BEFEEREK <A > 5 6i14:i55 | 2i02i64 | 4i09i19
LAY 1A 6 | EREEEK < B > 6 6:31i46 | 2:06:11 4:19:29
BFUTLRAL] 1 | BRER < BXK >| 6 6:10i93 | 1:57:91 4:08:49
No. 2 | BEREEER < BF#E > 5 6: 09:81 1:57:37 | 4:05i17
2 |F:EBH 3 | HEIXSK < 5i&F > 1 5:36:67 | 1:45:72 | 3:41:10
6878 (1) 4 | EAEK < EFEW >3 5:58i17 | 1:52:i55 | 3:54:28
8:38 5 | EAEK < BH >| 2 5:43:26 | 1:48:48 | 3:43:79
LAY 1A 6 | AEBEIXSK < KRE >| 4 6i06i68 | 1i53i55 | 3i58i50
BFUTLRDIL 1 | BEIESER < TEE > 6 6:32:95 | 2:05i43 | 4:17:24
No. 2 | BEEER < W% > 3 6:03:i76 | 1:55i32 | 3:57:87
3 | FECH 3 | EAEK < RO 5:38:i39 | 1:47:94 | 3:42:34
6878 (1) 4 | BEREEEKR < 1 D> 2 9:958:39 | 1:54:21 3i56:i23
8:46 5 | IEBEIXSK < K& >| 5 6:23:21 2:00:59 | 4:11:20
LAY 1A 6 | EAEK < BB > 4 6:10:i03 | 1:58:i78 | 4:03:81
TFUTILAAIL 1 | BEREEKR <K& D5 7:15i06 | 2:25i32 | 4i51:05
No. 2 | EREEEKR < BE S| 2 6:12:83 | 2:00:42 | 4:07:79
4 |RB 1 3 | EAEK < HE > 1 6i11i60 | 2:00i70 | 4i05i14
6878 (1) 4 | BEEER < &H >| 3 6: 14:91 2:04:35| 4:10:90
8:54 5 | BFEEREK < HF > 4 7:00:65 | 2:16:73 | 4:36:80

— 6
BFATILRAAIL| 1 | EFEKB 4 5:54:29 | 1:44:27 | 3:34:50
No. 2 | BEREER 3 5:29i48 | 1:40:i49 | 3i24:78
5 |iRREE I 3 | EAEKA 1 9:27117 | 1:37:i35| 3:20:98
6878 (1) 4 | BEEEKR 2 0i28i43 | 1i36:98 | 3i21i49
9:02 5 | EIEEKR 5 6:04:88 | 1:47:96 | 3:43:37

— 6

ZFATILAAIL| 1
No. 2 | BEEER 3 6:03:28 | 1:57:07 | 4:00:75
6 |REEF I 3 | EAEK 1 5:46:55 | 1:51:07 | 3:48:56
6878 (1) 4 | AEIXSK 2 9:96:71 1:53:61 3: 56:69

9:10 5

— 6

BFEFFILELTIL] 1
No. 2 | BEEEREK 2 4:57:28 | 1:38:i22 | 3:18:25
7 |iREE I 3 | EAEK 1 4:52:27 | 1:35:50 | 3:14:39
6A7H(X) 4 | BEERERK 3 5:03:74 | 1:41:53 | 3:23:40

9:18 5

— 6
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L=y JIL—4%4 EIE| -4 500m LAP 1000m LAP Bz
TFREFA/IAELTIL] 1
No. 2
8 |RE I 3 | EAEK 1 5i36i74 | 1i50i59 | 3i43i13
6A7H (L) 4
9:26 5 | BEFEEREK 2 6:44:48 | 2:19:i22 | 4:31:28
— 6
BFOUTLRALl 1 | BHEIESKR < K& > 4 | 4i22i29 | 2:i07:i38
No. 2 | BEIXS®R < KE > 3| 4i07i99 | 1:56:i68
9 |EXfEAH 3 | EAEK < BH > 1 3i58i75 | 1:i56i22
i 1000mL—X
6A7H (L) 4 | BEEER CEAR > 2| 4i04:i01| 1i58:i05
11:00 5 | BEREEK < MHA > 5 | 4:25i13 | 2:08i95
EAY 1N g 6
BFOUTILRAL 1 | BREEER < B > 5| 4:41:30| 2:17:44
No. 2 | BEIES®R < WX > 3| 4i17:i71 | 2:01:06
10 |BxEBHA 3 | EAEK < EW > 2| 41300 2:03:94
2 1000mL—X
6A7H (L) 4 | BEEER < W > 1 4:06:43 | 1:59:33
11:05 5 | BFEEK < BXK > 4| 4i18i16 | 2i08:20
MY 1 g 6
BFUTLRALl 1 | BHEIESKR < FE >| 5| 4:i30:30| 2:i14:01
No. 2 | EREEEKR CEH#E > 4| 4:25:75| 2:13:31
11 |BxfECHi 3 | BEREEK < B O 4:08:02 | 2:01:85
-~ 1000mL—X
6A18 (L) 4 | EAEK CEE > 2| 4i18i16 | 2i10i44
11:10 5 | EAEK <8Il > 3| 4i22:90| 2i12:07
MY 1 g 6
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No.3

ERBREO—VI RS

b=y JIL—4% EIE 3-amah 500m LAP 1000m LAP e

TFUTIVAAIL 1 | BEREEEKR CKAE D5 7:09:97 | 2:22:84 | 4:45:29
No. 2 | BEEER < &H >| 3 6:13i27 | 2:01:60| 4:07:68
12 iR I 3 | EAEK < HE > 1 6:04:54 | 1:58:i49 | 4:00:37
6H8H(H) 4 | BEREEKR < BE S| 2 6:09:48 | 1:59:24 | 4:03:56
8:30 5 | BEFEEREK < HF > 4 6i49i38 | 2i14:i74 | 4i32i21

— 6
BFUTLRAL] 1 | BRER < WWEF > 6 6:02:i65 | 1:55:i74 | 3i59:00
No. 2 | EAEK < fFEE O 9:29:20 | 1:45:36 | 3:35:63
13 |iRB 3 | EAEK < k8 > 2 5:34:22 | 1:46:03 | 3:38:15
6H88H(H) 4 | HEIZXER < B&F > 3 5:39i45 | 1:44:i72 | 3:37:76
8:38 5 | EAEK < BH >| 4 5:48:i26 | 1:50:88 | 3:46:22
— 6 | EREEEK < 18 > 5 5i58i71 1:55i23 | 3i56:i81

TFEITILAAL| 1
No. 2 | BEEER 3 6:05:05| 1:58:i95| 4:05:i37
14 iR I 3 | EAEK 1 5:48:i44 | 1:53:43 | 3:51:00
6H88H(H) 4 | HEIXSK 2 9:56:59 | 1:55:77| 3:57:03

8:46 5

— 6
BFATILRAIL| 1 | HEBEIESKR 5 5:38i49 | 1:49:i61 3:43:05
No. 2 | EREEEKR 3 5i04:75| 1:38i79 | 3i22:i93
15 iR I 3 | EAEKA 1 5i02i74 | 1i39i12 | 3i20i12
6H88H(H) 4 | BEEER 2 5:03:36 | 1:39:55| 3:21:73
8:54 5 | EAEKB 4 5:31:i64 | 1:43:95| 3:i34:31

— 6

TEFREFA/IAELTIL] 1

No. 2
16 iR I 3 | EAEK 1 5:47:09 | 1:51:i73 | 3i47:72

6H88H(H) 4
9:02 5 | BFEEREK 2 6:47:25| 2:15:10 | 4:28:67

— 6

BFEFHILELTIL] 1
No. 2 | BEEER 3 95:07:35| 1:37:30| 3:17:79
17 iR I 3 | EAEK 1 4:56:96 | 1:36:93 | 3:14:97
6H88H(H) 4 | BEREEEK 2 5:02:80| 1:37i69| 3i18:20

9:10 5
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